## HW\#6 Solutions




$$
\begin{aligned}
F\left\{x(t) e^{-j t}\right\} & =x(\omega+1) \\
& =\frac{(\omega+1)^{2}+j 4(\omega+1)+2}{-(\omega+1)^{2}+j 4(\omega+1)+3}
\end{aligned}
$$

(c) $F\left\{\frac{d x(t)}{d t}\right\}=j w x(w)=j w \cdot \frac{\omega^{2}+j 4 \omega+2}{-w^{2}+j 4 w+3}$

$$
F\left\{\frac{d^{n}}{d t^{n}} x(t)\right\}=(1 \infty)^{n} x(n)
$$

(l) $f\{x(t) * \&(t-1)\}=x(w) \cdot f\{f(t-1)\}$

$$
\begin{array}{r}
=x(\omega) e^{-j \omega} \\
=e^{-j \omega} \cdot \frac{\omega^{2}+j 4 \omega+2}{-\omega^{2}+j 4 \omega+3}
\end{array}
$$

